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Paper 3: The Policy Paper: The New Syllabus

From the guide: Approaches to teaching and learning in the Diploma Program

How many units are there?

There are four syllabus units that form the core
Approaches to teaching and learning in the

content for SL and HL. These are: Diploma Programme

Unit 1: Introduction to economics
Unit 2: Microeconomics

Unit 3: Macroeconomics

Unit 4: The global economy




Paper 3: The Policy Paper: The New Syllabus

From the guide: Approaches to teaching and learning in the Diploma Program

What's new? How can | understand the changes at a glance?

Old (last assessment 2021)

No formal introductory unit that forms part of the
syllabus

International economics and development
economics sections are separate

No key concepts addressed in the course

No introductory statements provided for each
section of the syllabus

Each syllabus section is divided into; subtopic, SL/HL '
core and HL only

SL and HL paper 1: students answer two questions.
One out of two from microeconomics and one out
of two from macroeconomics

SL and HL paper 2; students answer two questions.
One out of two from International economics and
one out of two from Development economics

|New (first assessment 2022)

Introduction to economics forms the first unit in the

course

The global economy unit contains elements of both

international economics and development
economics sections of the previous course

Nine key concepts form part of the course. These are

explicitly assessed in the internal assessment

Each unit begins with statements of Conceptual

understandings

Each syllabus unit includes the topic/subtopic,
depth of teaching and a diagrams and calculations
section (unit 1 only has a diagrams section in the last
column)

SL and HL paper 1: students answer one question

from a choice of three that are drawn from any of
the four units of the syllabus

SL and HL paper 2 students answer one question

from a choice of two that are drawn from any of the
four units of the syllabus

\ Diploma
) /) Programme

HL paper 3: mostly quantitative in nature

HL paper 3: mostly quantitative but includes policy
questions that are qualitative in nature

Approaches to teaching and learning in the
Diploma Programme




Paper 3: The Policy Paper: The New Syllabus

From the guide: Approaches to teaching and learning in the Diploma Program

What about real-world issues and contemporary content?
Real world issues

Students must explore the three units of “Microeconomics”,
“Macroeconomics” and “The global economy” through the

lens of real-world issues; each unit has two real-world issues.

Emphasis has also been placed on key global issues like
environment, inequality and poverty.

w -.

Programme

Approaches to teaching and learning in the
Diploma Programme




Paper 3: The Policy Paper: The Requirements

sl sl o From the guide: Economics 2020
External assessment (4 hours and 45 minutes) 80%
Paper 1 (1 hour and 15 minutes) 20%

An extended response paper (25 marks)
Assessment objectives: AO1, AO2, AO3, AO4

Syllabus content including HL extension material.

Students answer one question from a choice of three. (25 marks)

Paper 2 (1 hour and 45 minutes) . 30%
A data response paper (40 marks’

P paper ( ) Economics guide
Assessment objectives: AO1, AO2, AO3, AO4 First aswssment 2022

Syllabus content including HL extension material. Includes some quantitative questions.

Students answer one question from a choice of two. (40 marks)

Paper 3 (1 hour and 45 minutes) 30%
A policy paper (60 marks)
Assessment objectives: AO1, AO2, AO3, AO4

Syllabus content including HL extension material. Includes both quantitative and qualitative
questions.

Students answer two compulsory questions. (30 marks per question)

Internal assessment (20 teaching hours) ' 20%
This component is internally assessed by the teacher and externally moderated by the IB at

the end of the course.

Students produce a portfolio of three commentaries, based on different units of the syllabus
(excluding the introductory unit) and on published extracts from the news media. Each of

the three commentaries should use a different key concept as a lens through which to

analyse the published extracts.

Maximum 800 words for each commentary (45 marks)




Paper 3: The Policy Paper: The Requirements

Paper 3

Duration: 1 hour 45 minutes
Weighting: 30%
Students answer two compulsory questions.

The questions are subdivided into parts (a) and (b). Part (a) has subparts.
Students are expected to demonstrate the following assessment objectives.

Marks (maximum per question)

Maximum marks for paper 3 (for
two questions)

«  Questions in this paper are drawn from the four units of the syllabus including the HL extension

material and topics studied at HL only.

30
60

+  The command terms used indicate the depth of response required.

Assessment objective Part (a) Part (b)
AOQ1—knowledge and v v
understanding

AO2—application and analysis V v
AO3—synthesis and evaluation

AO4—use and application of Vv

appropriate skills

Marks (maximum) 20 10

. Marks are allocated using a combination of an analytic markscheme and markbands.

«  Many question parts require the use of a calculator. GDCs are allowed during the examination, and
students should be familiar with their use. Full detalls are given in the section "Use of calculators”.

. An answer booklet will be provided, and additional answer sheets may be used if necessary.

From the guide: Economics 2020

Economics guide
First assessmwnt 1022




Paper 3: The Policy Paper: Mark Scheme

From the guide: Economics 2020

Paper 3 (HL only)

For part (a) a markscheme will be used.

Part (b) 10-mark question

Recommend—present an advisable course of action with appropriate supporting evidence/reason in
relation to a given situation, problem or issue.

9-10 . The response identifies and fully explains an appropriate policy.

The response uses relevant economic theory effectively to support the
recommendation.

Relevant economic terms are used appropriately throughout the response.

+  The use of information from the text/data is appropriate, relevant and supports the
analysis/evaluation effectively.

The response contains evidence of effective and balanced synthesis or evaluation.

PED

Economics guide

First assessmwed 2022




Paper 3: The Policy Paper

From the specimen paper

SPEC/3/ECONO/HP3/ENG/TZ0/XX

@)\

Diploma Programme
Programme du diplome
Programa del Diploma

Economics
Higher level
Paper 3

Specimen paper
Candidate session number

1 hour 45 minutes ‘ ‘ ‘ ‘ ‘ ‘ H ‘ ‘ ‘ ‘

Instructions to candidates

Write your session number in the boxes above.

You are permitted access to a calculator for this paper.

Do not open this examination paper until instructed to do so.

Answer all the questions.

Answers must be written within the answer boxes provided.

Unless otherwise stated in the question, all numerical answers must be given exactly or correct
to two decimal places.

* You must show all your working.

¢ The maximum mark for this examination paper is [60 marks].



Paper 3: The Policy Paper
Tip 1.......... Write clearly
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Paper 3: The Policy Paper
I’'m really not sure what this says...
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Paper 3: The Policy Paper

A great way to make answers clear

4 s L2l 4 @ > marking assessor m.com ¢
mlhw-—m --u‘m P gl g 08 % sed versinns  Apgle  WChaad  Fanbont nh- Wikt Yahao!  News v Pepuler ¢

| et Amgle o Suculty | e - Clmaw ] hie (LS00 < ebmate . | 8 € Peshention W

RM Assevsor Whole Hesponse | NG ECONOMICS ML PAPER THREL In ENGLINH

X ?

WIth referance 1o the dingrm, kientify tha long-run equiibrum price ond kewvel of outet
for Fiem A

| % ':;.‘,4,._‘ W ‘;A'inr.& .$ r., ﬁ_ll .nj

| gk lmﬂ' Ly 0= 4 4004 vod "“-““‘ This J&. bR oaue. 2, B
(un oeife) compel hoe q' 0% O g,,r k. fo normy! Pprk, The

Falm, ey cgvmol . plofts . Weboo, . (QIERUR 14 khe PR @5 AL,




m Paper 3: The Policy Paper

Answers must be contained within the

Answers

from be bOX
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m Paper 3: The Policy Paper

Answers This is a special view of the page
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Paper 3: The Policy Paper

| Clearly indicate the answer |
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Paper 3: The Policy Paper
Where is the CORRECT answer?
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Paper 3: The Policy Paper
Tip 4 — Check your working
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Paper 3: The Policy Paper
Its more common than you think!

4. » 2L 4 @ v e & marking atenser 1m com . [+
T B ey ommirn o Dommenint  Women's F g MOGULY TR Login  Waieg OF 8 amt versbons  Apple 5w Fasslond  Taitinr  Wikipedia  Yaloa!  Sews = Pupeier
e - - - e e o

L2 L} - AP

(i) State the amount (in § bilion) by which the fdl employment level of output
Qxcoeds e shovt-run aquittyium avel of output.

7 ‘JS» 4 = 14
)4 Bl L4



Explain a demand function
(equation) of the form
Qd=a-bP.

Plot a demand curve from a
linear function

(eg.Qd =60-5P).

Identify the slope of the
demand curve as the slope
of the demand function
Qd=a-bP, thatis-b

(the coefficient of P).
Outline why, if the “a" term
changes, there will be a shift of
the demand curve.

Outline how a change in "b"
affects the steepness of the
demand curve.

Paper 3: The Policy Paper

Significant changes in the syllabus.

Lets just look at demand and supply as an example:

2013 Syllabus

Explain a supply function
{equation) of the form
Qs=c+dP.

Plot a supply curve from a
linear function (eg, Qs = -30 +
20P).

Identify the slope of the supply
curve as the slope of the
supply function Qs = ¢ + dP,
that is d (the coefficient of P).
Qutline why, if the “c" term
changes, there will be a shift of
the supply curve.

Outline how a change in "d"
affects the steepness of the
supply curve.

Calculate the equilibrium price
and equilibrium quantity from
linear demand and supply
functions.

Plot demand and supply
curves from linear functions,
and identify the equilibrium

price and equilibrium quantity.

State the quantity of excess
demand or excess supply in
the above diagrams.

New Syllabus

Calculation (HL only):
consumer surplus and
producer surplus from
a diagram




Paper 3: The Policy Paper

From the Specimen Paper

SPEC/3/ECONO/HP3/ENG/TZ0O/XX ®

Diploma Programme
Programme du dipléme
Programa del Diploma &

Economics
Higher level
Paper 3

Specimen paper

What types of questions can we expect?
Reading information from a diagram

Figure 3 illustrates the markel for sugary dnnks in New Zealand

Figure 3
S —
S
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s
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Quantity of sugary dnnks (millions of litres per year)

Assuming that the consumption of sugary drinks is an example of market failure,
it has been estimated that the allocatively efficient level of consumption would be
approximately 200 million litres per year

(vi) Using this information, draw the marginal social benefit (MSB) curve on Figure 3.  [1]
(vii) Using your answer to part (vii), calculate the welfare loss to New Zealand
resulting from excessive consumption of sugary drinks. 121




Paper 3: The Policy Paper

From the Specimen Paper

SPEC/3/ECONO/HP3/ENG/TZ0O/XX >

Diploma Programme
Programme du dipléme
Programa del Diploma

Economics
Higher level
Paper 3

Specimen paper

Country X is a low-income economy situated in Africa. Its main export is coffee, which
accounts for 20.2 % of its export earnings. Figure 1 lllustrates the market for coffee in
Country X. Dd and Sd represent domestic demand and supply per year, in thousands of
kilograms (kg). while Pw is the world price in US dollars (US$) per kg.

Figure 1
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(a) (i) Calculate the value of coffee exports per year from Country X.

2]




Paper 3: The Policy Paper

From the Specimen Paper

SPEC/3/ECONO/HP3/ENG/TZ0O/XX ® D
iploma Programme
Programme du diplome
. Programa del Diploma g
Economics
Higher level
Paper 3

Specimen paper

What types of questions can we expect?
Some calculations eg elasticity
Explanations using data

The minister of finance for Country X has stated that “one of our problems is that our
citizens view coffee as an export crop only, and we do not do enough to develop our
domestic market. Indeed, many coffee drinkers in our country buy imported products
rather than domestic coffee, and their demand is not price-sensitive”.

(vii) Assume the price of coffee is US$2.20 per kg. Using Figure 1, calculate the price
elasticity of demand (PED) for coffee in Country X if the price were to fall from

US$2.20 per kg to US$1.40 per kg. 2
(viii) Using at least two items of information provided, explain why the government of
Country X should be very concerned at the prospect of a fall in world coffee prices. [4]




Paper 3: The Policy Paper

From the Specimen Paper

SPEC/3/ECONO/HP3/ENG/TZ0/XX ®

Diploma Programme
Programme du diplome
. Programa del Diploma

Economics
Higher level
Paper 3

Specimen paper

What types of questions can we expect?
Some calculations eg elasticity
Explanations using data

(viii) Using at least two items of information provide, explain why the government

of Country X should be very concerned at the prospect of a fall in world

4]

coffee prices.
Level Descriptor Marks
0 The work does not reach a standard described by the descriptors below. 0
1 The written response is limited. 1-2
For identifying two reasons why the government of Country X should be
very concerned at the prospect of a fall in world coffee prices. Award [1] for
each valid reason.
2 The written response (s accurate. 3-4

For explaining two reasons why the government of Country X should be
very concerned at the prospect of a fall in world coffee prices. A response
which does not use at least two items of information may be awarded a
maximum of [3].

Answers may include:

* Coffee comprises 20.2 % of export eamings. If the price of coffee falls then

export earmnings will decrease.
e The current account balance is in deficit (-US$2.35 billion). The deficit
would increase.

* Agriculture accounts for 26.7 % of GDP, 40 % of the labour force works in

agriculture. A fall in the price of coffee will affect rural workers significantly.
The level of poverty is relatively high (19.7 %) while GDP/capita is less than
10 % of the world average. Inequality is significant (Gini coefficient = 0.41).
A fall in the price of coffee would be likely to increase poverty, reduce
GDP/capita and increase inequality.

Any valid reason explained.



Paper 3: The Policy Paper

From the Specimen Paper

SPEC/3/ECONO/HP3/ENG/TZO/XX ® Diplora Proganie (vi) Using an example, explain the importance of presenting “GDP per capita”
Programme du dipléme iati i i
§ Yl statistics at purchasing power parity (PPP). [4]
Economics
Higherdevel L B S T Y R e ST s S S e e
Paper 3

Specimen paper

What types of questions can we expect? ..........................................................................
Va||d|ty of statistics [l s s




Paper 3: The Policy Paper

From the Specimen Paper

SPEC/3/ECONO/HP3/ENG/TZ0O/XX

® Diploma Programme
Programme du dipléme
. Programa del Diploma Y

Economics
Higher level
Paper 3

Specimen paper

What types of questions can we expect?
Validity of statistics
With a focus on using data

(vi)
statistics at purchasing power parity (PPP).

Using an example, explain the importance of presenting “GDP per capita”

Level

Descriptor

The work does not reach a standard described by the descriptors below.

The written response is limited.

For the idea that the purchasing power of GDP per capita (measured in, for
example, US$) is not comparable between countries due to differences in
the general price level.

The written response is accurate.

3-4

For an explanation that purchasing power of GDP per capita (measured in,
for example, US$) is not comparable between countries due to differences
in the general price level, and that adjusting for purchasing power parity
allows a realistic comparison of the real value of GDP per capita AND for an
example, such as: if annual GDP per capita is $5000 in Country A and

$10 000 in Country B, while the cost of living in Country B is twice that in
Country A, then GDP per capita at PPP would be equal between

the countries.

If a relevant example is not included, a maximum of [3] may be awarded.



Paper 3: The Policy Paper

From the Specimen Paper

SPEC/3/ECONO/HP3/ENG/TZ0/XX ® D
iploma Programme
Programme du dipléme
. Programa del Diploma Y
Economics
Higher level
Paper 3

Specimen paper

What types of questions can we expect?
Interpreting data

Figure 2
Key: — Trend line
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The Gini can sometimes fluctuate from one survey to the next, When that
happens the trend becomes clear on looking back.

H  inrecent years there has been some volatility in household incomes, refiecting
the ongoing adjustments to the impact of the GFC, Christchurch earthquakes,
and the associated economic downturn and recovery. There is no evidence yet of
any rising or falling trend in the Gini in recent years.

(iv) Referring to the change in New Zealand’s Gini coefficient shown in Figure 2,
outline one possible reason for this change.

[2]




Paper 3: The Policy Paper

From the Specimen Paper

SPEC/3/ECONO/HP3/ENG/TZ0/XX 0 i Tor Fromraanre (v)  Explain the likely impact on New Zealand's Gini coefficient if the government
F) | oo i duem increased the rate of GST to 20% in 2017. [4]
rograma del Diploma ¢
Economics
Higherlevel | e e e A A S R S S e S
Paper 3
Speaimenipagper B U e S R e S R R s s e
What typeS of queStionS Can We expect? .........................................................................
Applications of gini coefficient




Paper 3: The Policy Paper

From the Specimen Paper

SPEC/3/ECONO/HP3/ENG/TZ0/XX ® Di
iploma Programme
Programme du dipléome
. Programa del Diploma y
Economics
Higher level
Paper 3

Specimen paper

(b) Using the data provided and your knowledge of economics, recommend a policy which
the New Zealand government could introduce to address the over-consumption of
sugary drinks. [10]

(b) Using the data provided and your knowledge of economics, recommend a policy which
could be introduced by the government of Country X in response to the expected fall in
the world price of coffee. [10]



Paper 3: The Policy Paper

From the Specimen Paper

SPEC/3/ECONO/HP3/ENG/TZO/XX

Economics
Higher level
Paper 3

Specimen paper

From the guide

DEEY

Diploma Programme
Programme du dipléme:
Programa del Diploma

(b) Using the data provided and your knowledge of economics, recommend a policy which

(b)

the New Zealand government could introduce to address the over-consumption of
sugary drinks. [10]

Using the data provided and your knowledge of economics, recommend a policy which
could be introduced by the government of Country X in response to the expected fall in
the world price of coffee. [10]

slido

The response identifies and fully explains an appropriate policy.

The response uses relevant economic theory effectively to support the
recommendation.

Relevant economic terms are used appropriately throughout the response.

The use of information from the text/data is appropriate, relevant and supports the
analysis/evaluation effectively.

The response contains evidence of effective and balanced synthesis or evaluation.




Paper 3: The Policy Paper

How can we adjust our teaching?
Practice using datain class to

identify economic problems

CHAT!
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[Source: adapted from Khozem Merchant, Financial Times. 9 December 2005, and The Economist: Country Briefings)



Paper 3: The Policy Paper

How can we adjust our teaching?
Newspaper articles describing
economic problems. Eg
COVID-19. Challenge students
to solve them

7' ThelakartaPost

NEWS  BUSINESS SE ASIA OPINION LIFESTYLE TRAVEL  MULTIMEDIA

ACADEMIA > OPINION

How COVID-19 impacts Indonesia’s
trade

Lili Yan Ing

_ Aljazeera.com

Coronavirus pummels already crippled Palestinian
economy: UN

"Even before the economic shock due to the coronavirus disease [COVID-
19] pandemic, the [Palestinian] economy was expected to slip into ...

Study: COVID-19 Economic Impact $2.5 Trillion Loss in
Goods ...

The team used quarterly economic data in their model of the U.S. economy
to determine the effects of the pandemic and the impacts of related ...



Paper 3: The Policy Paper

How can we adjust our teaching?

Policy Game
TEAM A - Proposition TEAM B - Opposition
-> Students develop a solution -> Students point all the -> Students decide which
to an economic problem problems with the side has the strongest
-> Egsolving the over proposed solutions argument (balance) and
consumption of sugary -> Then passed toteam C identifies the winner

drinks

-> They list all the reasons why
it's a great solution

-> Then passed toteam B
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Thank you for attending

Jen Olmsted
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